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® (o (U

| l, M | M1 | M2 | N | N1 N3 N4 | @ = ||
C612/3 |Pe3 11 |128] 4 |140115 | 95 | — | mex1s | 4 [|415.5] 55
celz2m P 14 |163] 5 | 180 | 130 [ 110 | — | Mm8x16 | 45 [a15.5] 57
c612/3 |P8o 19 |218] & | 200 185 | 130 | — | mioxiz | 4 | 435 | 61
c6123 |Pao 24 [273] 8 | 200185 [130 | — | miox12 | & |43 | &
C612/3 |P100 28 | 313 8 | 250 | 215 | 180 | — | Mizx18 | 45 | a4 | 85
cel23  |Pi12 28 [31.3] 8 | 250 | 215 | 180 | — | Mi2x18 | 45 | 4% | 85
cel23 |P132 38 | 413 | 10 | 300 | 285 | 230 | 16 14 5 |4815| 68
cEl23 |P160 42 |453| 12 | 350 | 300 | 250 | 23 18 55 | 532 | 73
ce123 |P180 48 518 14 | 350 | 300 | 250 | 23 18 55 |53 | 73
Cel4 P63 1 |128| & | 140|115 | 95 | — | mexis | & |48 | 61
cela  |P7i 14 |163] 5 | 160 | 130 | 110 | — | M8x16 | 45 | 489 | 63
Céld P8O 19 |218] & | 200|185 | 130 | — | Mioxiz 5055| 67
Cela P30 24 |273] 8 | 200|165 | 130 | — | mioxi2 5055 &7
cela  |Pi00 28 [313| 8 | 250 | 215 [ 180 | — | Mi2x18 | 45 [515.5] 71
cel4  |P112 28 |313| 8 | 250 | 215 | 180 | — | Mizx18 | 45 |515.5] 71




30 hé

OuUTPUT

F1
rag

316

Tl
o]
INPUT
A
100 B E
[Fa) F3
s
C61U e E
pilp2[ps[G [T [s i e [ N i —
FA |z30[285 (300 14 [ 4 |18 35:}
FB |zs0]200 (350 18 | 5 |18 é—ﬂ B
o] B
=5 A B E F F1 F2 F3 Fa v B
cEl2 532 372 80 28 31 8 5 50 M10x22 66
CE13 |HS 532 372 80 28 31 8 5 50 M10x22 66
C614 575 425 50 24 27 8 25 35 MBx18 72




r.

18 ha

e

64

; 3
=} M a2
N 5 o e
25 || 165 | OUTPUT
FEE
LF
L L
120 17
=
8| =11 3
&
L]
5
M..FD
. M. FA M...FD M...FA
| hy I_ / AC H HF L AD ﬁ LF ﬁ R AD R AD
CT02/3|82 |M25 156 288 286 631.5 118 88 for.s g2 128 143 134 118
CT02/3|83 |M3s 195 7.5 305.5 | 680.5 142 83 776.5 101 160 155 160 142
CT02/3|83 [M3L 195 7.5 305.5 2.5 142 101 803.5 108 160 155 160 142
CTo2/3|84 |MM4S 258 339 337 2.5 193 120 891.5 134 226 193 217 153
CT02/3|54 [MAL 258 339 337 820.5 193 135 929.5 153 226 193 27 153
CT02/3|84 [MMLC 258 339 337 855.5 193 143 954.5 161 226 193 27 153
CT02/3|85 |MsS 310 365 363 907 245 163 1047 193 266 245 247 234
CTO23|85 |MSL 310 365 363 851 245 178 1041 209 266 245 247 234
cTo4d4 |81 |MIS 138 278 277 635.5 108 87 698.5 80 103 132 124 108
cCTo4 |51 [MIL 138 278 277 659.5 108 a8 F20.5 &1 103 132 124 108
cCTo4 |52 |M25 156 288 286 682.5 118 g2 758.5 96 128 143 134 118
CT04 |53 |M3s 195 7.5 305.5 7i1.5 142 g7 B27.5 104 160 155 160 142
CTo4 |53 [MBL 195 7.5 305.5 763.5 142 104 B54.5 111 160 155 160 142
CTo4 |54 |M4S 258 339 337 833.5 193 123 G42.5 137 226 193 27 153
CT04 [S4 [M4L 258 339 337 871.5 193 138 980.5 156 226 193 27 193




LB

18 ke (=)
2 - Q
I M A2
G0 he 1 1
OUTPUT | 165 | e
|2z |
ES
M1
INPUT

I [ M M1 M N2 M4 X P
CTo2/3 |P8O 18 [21.8 200 130 M10x12 4 | 473
CTro2/3 |P0 24 [ 273 200 130 M10x12 4 | 473
Cro2/3 |P100 28 [31.3 250 180 M12x 16 483
Cro2s  |P1142 28 [31.3 250 180 Mi2x1g 483
Cro23 P32 38 | 41.3 300 230 14 519.5
CTo23 |P160 42 | 45.3 350 250 18 575
CTo23 |P180 48 [ 51.8 350 250 18 375
Cro2/3 |P2o0 85 | 59.3 400 300 h16x25 600
C 704 P63 11 [ 12.8 140 95 MEx19 504.5
CTo4 P71 14 [ 18.3 160 1140 MEx16 504.5
CTo4 Pa0 18 [21.8 200 130 M10x12 524
CTo4 Pa0 24 (273 200 130 M10x12 524
CTo4 P100 28 [31.3 250 180 M12x16 534
CTo4 P112 28 [31.3 250 180 M12x16 534
CcTo4 P132 3 [ 41.3 300 230 14 570.5




120 =] E
15 | %0 ) Fa) F3 ENRLLE
e =
%:':E__. I S I — E -+
I
_ ® !. Mwa2
) K= 80 he
25 || 165 OUTPUT
22
F2ra
[ -
W
F ris
INPUT
= A B E F Fi F2 F3 F4 v o)
c702 6575 | 4275 110 42 45 12 10 90 Miz28 | 108
€703 |HS 6575 | 4275 110 42 45 12 10 90 Mizes | 108
cT04 5935 | 4235 50 24 27 8 25 45 Mx19 o4




LA

L 320

140 | ‘ |

1. 15 | 110 &) '

T m =, - ,
B _"f- - =] If-:%\‘,.-- - ,ri _—
T = e
M2 0w 2 H
80 bE
OUTPUT 28 2w
217
M.FD
, \ M. FA M..FD M..FA

L ] AC H HF L AD i LF i R AD R AD
C802/3|S3 [M3s 195 | 3475 | 3445 | 7425 | 142 139 | 8385 | 145 160 155 | 180 142
CB02/3(S3 |[M3L 195 | 3475 | 3445 | 7745 | 142 146 | 8855 | 153 160 155 | 180 142
CB02/3(S4 [MS 258 379 376 | 8445 | 183 165 | 9535 | 178 226 193 | 217 193
CB02/3|S4 ML 258 379 376 | 8825 | 193 180 | 9915 | 195 226 193 | 217 193
CB02/3(S4 [MILC 258 379 376 | 917.5 | 183 188 | 10165 | 204 226 193 | 217 193
CB02/3|S5 [M5S 310 | 405 | 402 969 | 245 | 208 | 1108 | 238 266 | 245 | 247 234
C802/3(S5 |MSL 310 | 405 | 402 | 4043 | 245 | 224 || 1153 | 254 266 | 245 | 247 234
cen4 [S1 [Mis 138 318 316 | 7085 | 108 132 | 7725 | 135 103 132 124 108
ce04 [S1 ML 138 319 316 | 7335 | 108 133 || 7945 | 135 103 132 124 108
cCB04 [S2 [M2S 158 328 326 | 7585 | 118 | 137 | 8325 [ 141 129 | 143 134 118
cCB04 [S3 [M3S 195 | 3475 | 3445 | 8055 | 142 142 | 8015 | 148 160 155 | 180 142
C804 [S3 |[M3L 195 | 3475 | 3445 | 8375 | 142 149 | 9285 | 156 160 155 | 160 142
CB04 [S4 [mS 258 379 376 | 907.5 | 193 168 | 10165 [ 182 226 193 | 217 193
Ca04 [S4 [M4L 258 379 376 | 9455 | 183 183 [[10545 [ 204 226 183 | 217 133




&

LB 320

EH
%- i H L
:":I__ H = [ | mzonaz
80 re
MIL\ ig
as |l 210 || N3 OUTPUT
Comr
P LB
40 30 | x
5 |110 | [i=
g
;5 N
M
INPUT
P225
| [ M M1 M2 N N1 N2 N3 N4 X P m 1™
G BD 2J3 PBO 19 [218] & 200 [ 185 | 130 | = M0 12 4 533 | 135
C BOD 273 Pa0 24 | 273 8 200 | 185 | 130 | — M0 12 4 533 | 135
C BD 273 P100 28 [31.3] 8 250 [ 215 | 180 | — M1 2w 18 45 [ 543 | 139
C BD 2J3 P112 28 [31.3]| 8 250 [ 215 | 180 | = M12x 18 45 [ 543 | 1349
C BD2J3 P132 38 1 41.3 ([ 10 300 | 265 | 230 16 14 5 [579.5] 141
G BD 2/3 P160 42 1 453 12 350 | 300 | 290 | 23 18 6 635 | 154
CBD 23 P180 48 | 518 14 350 | 300 | 250 | 23 18 [ 635 | 154
G BD 2J3 P200 55 | 593 16 | 400 | 350 | 300 | — M16x25 T 6680 | 176
C BD 2J3 p225 80 [64.4 ] 18 | 450 [ 400 | 380 | 25 18 g [FO55] 178
CB04 P&3 11 | 128 4 140 | 115 | 95 — MEx18 4 |576.5| 138
CHBO4 P71 14 | 16.3 5 160 [ 130 | 110 | = MBx 186 45 [576.5] 138
C 804 PBO 19 [21.8] & 200 [ 185 | 130 | — M10x12 595 | 140
CBO4 Pa0 24 | 273 8 200 [ 185 | 130 | — M10x12 54865 | 140
CBO4 P100 28 [31.3] 8 250 [ 215 | 180 | — M2 18 45 | 605 | 144
G804 P112 28 [31.3] 8 250 [ 215 | 180 | — M12x 186 4.5 | 605 | 144
CBO4 P132 38 1 41.3( 10 300 | 285 | 230 16 M12x18 5 |642.5| 148




223

e

85

MPOE 2

80 hE

OuUTPUT

F1

1l | = A B E F F1 F2 F3 F4 v &
cE02 F18.5 4568.5 110 42 45 12 10 &0 M12x28 154
CEHOD3 HS 718.5 468.5 110 42 45 12 10 & M12x28 154
Ca04 666.5 476.5 50 24 27 8 2.5 45 MEx18 141




L
170
15 |, 140 &) 5w
=== N W _
= D ;
— L 1 1 O I T I -
3 @ E oI - =
i
| H H WZ s A2
L 90 hE
a0 ||| 25 OUTPUT
330
LF
L
1
"I i
__1;. % _L:_
: o
M..FD
. M FA M...FD M...FA
| 4 1] AC H HF L AD & LF & R AD R AD
C902/3|53 |M3s 195 | 3975 | 3mes | 8se 142 228 948 236 160 155 160 142
coo2/3|s3 [MaL 195 | 3975 | 3%es | Bas 142 236 75 243 160 155 160 142
C 90 2/3|54 |M4S 258 429 424 954 193 255 | 1es | 268 226 193 217 193
C 90 2/354 |[MaL 258 420 424 [T 193 270 1104 288 226 193 217 193
co02/3[54 [miLC 258 429 424 1027 | 193 278 1126 | 295 226 193 217 193
coo23|ss |Mss 310 455 450 | 10785 | 245 208 [ 12185 | as 266 245 247 734
coo2/3]s5 |MsL 310 455 450 | 11225 | 245 314 [ 12825 | 34 266 245 247 4
cood |52 |M2S 156 378 373 [ 118 234 [F 238 129 143 134 119
cood |53 |M3s 195 | 3975 | 3mes | e3s 142 z3g | 1034 246 180 155 160 142
cood |53 |MaL 195 | 3g7s | smes | eev 142 248 1058 | 253 160 155 160 142
Cood |54 (W45 258 429 424 1037 | 193 265 | 1146 | 278 226 193 217 193
cood |54 |maL 258 424 424 1075 | 183 280 1184 | 208 226 193 217 183




251 P LB ars
170 X
15 40 (G
- = T [
@ i |
N wioguz g -E-—- | N — g
90 hE Ll H
OUTPUT | S ]
a0 || 250 | || N3
330
P i LB
170 |_ x
15 140 I—
5’
—_—
Et--' %
INPUT s __I_I_ﬁ
P71...P200
INPUT
P225. P250
| I, M | M1 (M2 | N | N1 | N2 | N3 N4 x | e |BA| L
co023 |Pso 19 |218| & | 200 | 185 [ 130 | — | Mi0x12 | 4 |p44.5| 229
co02/3 |Pso 24 |273| 8 | 200165 [ 130 | — | Mi0x12 | 4 |ga4s| 229
c9023 [P100 28 [313] 8 |250 215 [ 180 [ — | mi2x18 | 4.5 |554.5[ 234
co023 |P112 28 [31.3] B | 250 | 215 | 180 | — | Mi2x16 | 4.5 |554.5] 234
co023 |P132 38 |41.3| 10 | 300|265 | 230 | 18 14 5 |69 | 238
co023 |P160 42 |453| 12 | 350 | 300 | 250 | 23 18 6 |746.5| 251
c9023 |P180 48 | 518 | 14 | 350 | 300 | 250 | 23 18 & |r48.5| 251
c902/3 |P200 55 | 59.3 | 16 | 400 | 350 | 300 | — | M16x25 | 7 |771.5] 272
Co023 |P235 80 | B4.4 | 18 | 450 | 400 | 350 | 30 18 g | 817 | 273
C902/3 |P250 85 | 69.4 | 18 | 550 | 500 | 450 | 30 18 s | 847 | 205
co04 P11 14 [ 16.3] 5 | 160 | 130 | 110 | — | MBx18 | 4.5 |707.5] 236
c904 P8O 15 218 & | 200 [ 165 [ 130 | — | mi0x12z | & | 727 | 238
co04  |poo 24 |273]| 8 | 200185 [130 [ — | Miox12 | 4 | 727 | 238
co04  |Pi00 28 [31.3] 8 | 250 | 215 | 180 | — | M12x18 | 4.5 | 737 | 242
c904 __ |P112 28 [313] 8 | 250 | 215 | 180 | — | Mi2x18 | 4.5 | 737 | za2
c904 |P132 38 |41.3| 10 | 300|265 | 230 | 16 14 5 |773.5| 244
co04  |P160 42 |453| 12 | 350 | 300 | 250 | 23 18 55 | a2e | 248
c904  |P180 48 | 518 | 14 | 350 | 300 | 250 | 23 18 55 | 824 | 248




170 B E
15 T‘ﬁ_l @ Fa | F3
s=t | —
* | || P &
|t
A0 250

25 ha

45
1
1

A 2

ouTPUT

{ | = A B E F F1 F2 F3 F4 v i)
co02 9305 | 6205 140 60 64 18 10 120 | Migas | 273
€903 |HS 9305 | 6205 140 60 64 18 10 120 | Migas | 273
cond 797 577 50 24 27 3 25 45 MExis | 240




28 ha 15 | 180 i
: iz R
g eT 1=l _ =lAA 1L gl |-
: s =@l -
WA w50 ] i H
100 ke g
OUTPUT as || 290 |
|_sss
LF
L
Bk i3
—
14 | Lo
— -
I H
5
M..FD
| WEA M...FD M..FA
. IRE) AC H HF L AD . LF . R AD R AD
C1002/3 [S4 |Mas 258 | 474 | 469 | 1048 | 193 | arr | 1158 | sw | 226 | 183 | 217 | 183
C1002/3 |54 |MAL 258 | 474 | 469 | 1087 | 193 | 392 | 1196 | 410 | 226 | 193 | 217 | 193
C1002/3 [S4 |MALC | 258 | 474 | 469 | 1122 | 193 | 400 | 1221 | 418 | 226 | 193 | 217 | 193
C1002/3 |85 |MsS 310 | 500 | 495 | 11735 | 245 | 420 |1313.5 | 450 | 266 | 245 | 247 | 234
C 100 2/3 |85 |M5L 310 | 500 | 495 | 1217.5 | 245 | 438 | 1357.5 | 468 | 266 | 245 | 247 | 234
c1004 [S2 |mes 156 | 423 | 418 | 9805 | 118 | 354 | 10565 | a5 | 129 | 143 | 134 | 118
c1004_[S3 |M3s 195 | 4425 | 4375 | 10295 | 142 | 358 | 11255 | 3s6 | 180 | 155 | 160 | 142
c1004 [S3 |MsL 195 | 4425 | 4375 [ 10815 | 142 | 386 | 11525 | ars | 160 | 155 | 160 | 142
C1004 |54 |mas 258 | 474 | 469 |11315| 193 | 385 |12405| 3es | 226 | 183 | 217 | 183
C1004 |54 ML 258 | 474 | 469 | 11685 | 193 | 400 | 12785 | 418 | 226 | 193 | 217 | 193
C1004 |54 |MALC | 258 | 474 | 469 | 12045 | 245 | 408 | 13035 | 42 | 226 | 193 | 217 | 193




&

P LB 4400 Sina
21"" 1
15 | 180 -
| 2
E:[: — | E Fo [ WA 50
b 100 b
OUTPUT
45
154
& pe3)
ol
LB
7
- B2
M1
INPUT
INPUT
P225..P280
1 I, M | M1 [ M2 | M | N1 | N2 | N3 M4 X | p .ﬁ
c1o0253 [P1oo 28 [313] 8 [250] 215 [180 [ — | mi1zx1e | 45 [ra0.5] 36g
c1o0253 |P112 28 (313 8 250|215 [ 180 [ — | M12x18 | 4.5 |7re9.5] 364
c1oo25 |P132 ag 413 | 10 | 300 | 265 | 230 | 18 14 5 | 785 | 387
c 10023 |P160 42 | 453 | 12 | 350 | 300 | 250 | 23 18 6 [a415| asz
c100253 |P18O 48 |51.8| 14 | 3s0 | 300 | 250 | 23 18 6 [841.5| 382
c1o00253 |P2o0 55 | 593 16 | 400 | 350 | 300 | — | misxes 7 |ssa.s] 403
C 10025 |p235 60 |[644 | 18 | 450 | 400 | 350 | 30 18 7| a2 | 403
c 100258 |[P250 65 694 18 | 550 | s00 | 450 [ a0 18 7 | oar |4z
C 100253 |P280 75 |7o.0| 20 [ss0 {500 [4s0 | 3o 18 6 | o4z | 428
c1o004  |Pso 19 |218]| &6 |200 (185 [130 | — | miox12 | 4 |szas| am
cio04  |poo 24 |27a|l 8 |200|18s | 130 [ — | miowiz | 24 [moas| am
c1io04 |P100 28 [31.3] 8 |250 | 215 [ 180 [ — | mizx1e | 4.5 |azs| ars
c1i004  |P112 28 (313 8 250 (215 [ 180 | — | Mi2x16 | 4.5 |saz.s| ars
c1io04 |P132 a8 413 | 10 |300| 265 | 230 | 18 14 5 |®eg | ar7
c1004 |P160 42 | 453 | 12 | 350 | 300 | 250 | 23 18 5.5 [219.5] 381
c1o004 |P1BO 48 |51.8| 14 | 350 | 300 | 250 | 23 18 5.5 [919.5] 381




106

M2 A x50

100 ks

OuUTPUT

F1
ray
1
L

210

INFUT
= A B E F Fi F2 F3 Fd v o)
c1002 10255 | 676 140 60 64 18 10 120 | M1Bx36 | 408
C1003 [HS 10255 | 676 140 60 64 18 10 120 | M1Bx36 | 408
C 100 4 892 832 50 24 27 8 25 45 MBx19 372




